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1a. (6 pts.)
In the Corn Wars article, what was the reason given for why China needs seed technology so badly?  The article also talks about “food as a weapon”.  Describe how food is used as a weapon in the article? 
1b. (6 pts.)
The elasticity of demand for agricultural commodities is -0.6, and the elasticity of supply is 0.7.  Explain what each of these mean, and how they related to the issue of variable farm income.   
Write the letter corresponding to the most appropriate answer in the blank provided: 

_______2a.  (3 pts.)
As stated in the book, regulations
A. Are often a result of negative externalities
B. Expand freedom of choice
C. Lead to capitalization 
D. All of the above
E. None of the above
_______2b.  (3 pts.)
Which of the following is NOT one of the functions of Congress?

A. Oversight of the Executive Branch

B. Execution of laws
C. Authorization of Legislation

D. Appropriation of Spending dollars
E. All of the above are functions of Congress

_______2c.  (3 pts.)
 Which of the following is true concerning Agriculture’s Iron Triangle?
A. The USDA does not depend on Interest Groups
B. Ideas generally come from the Legislature
C. The triangle does not include politics of the minority
D. None of the above

E. All of the above
_______2d.  (3 pts.)
Which of the following is not a true statement?

A. The entire food and fiber system accounts for about .7% of GDP.

B. Farming accounts for a small percent of the total workforce.

C. The entire food and fiber system accounts for about 17% of the workforce.

D. All are not true

E. All are true

_______2e.  (3 pts.)
Which of the following are true about policy and programs?
A. Programs implement policy.

B. A policy is a broad guiding principle for action.

C. It is not important whether the Congress shares the President’s policy vision.

D. All of the above

E. None of the above
_______2f.  (3 pts.)
Which of the following is not one of the assumptions of perfectly competitive markets?
A. Freedom of market entry exists for both buyers and sellers
B. The product sold is heterogeneous
C. Many small firms so that no one firm can affect price
D. All of the above

E. None of the above
_______2g.  (3 pts.)
The benefits of farm program payments are captured in the value of the cropland.  This is an example of:
A. Own price elasticity
B. Capitalization

C. Cross price elasticity
D. All of the above
E. None of the above
_______2h.  (3 pts.)
The commodity most likely to be affected by the purchase of Monsanto by Bayer is:
A. Soybeans
B. Corn

C. Cotton
D. Rice
E. All of the above

3a. (6 pts.)
If the price of corn in equilibrium is $3.00 per bushel and the quantity supplied equals quantity demanded at 180 bushels.  What would happen to the quantity supplied if the price increased to $3.60 per bushel assuming the supply elasticity is .5?  Show your work.
3b. (6 pts.)
The policy process has been described as a lot like making sausage.  Why?  Why is it so important to understand how policy is made?
3c.  (6 pts.) 
 Guest lecturer, Walt Smith, discussed the 2015 case about the proposed cuts to crop insurance.  Describe the case Mr. Smith discussed and how it relates to politics of the minority.
3d. (6 pts.)
Who is in charge of the policy process in the Federal Government?  Why is having the majority in Congress so important to those working in Washington D.C.?
3e. (6 pts.)
Evaluate the following statement by saying you agree or disagree and why.


The WTO case against cotton could have been filed against corn, and the U.S. corn industry could have been justified spending millions to help defend the U.S. cotton industry.
4a. (6 pts.)
Guest lecturer, Walt Smith, discussed how members of congress “have to be a mile wide and an inch deep”.  Explain what this means and how this relates to lobbyists.
4b. (6 pts.)
If you could be a member of the House of Representatives or the Senate which one would you choose and why?
4c. (10 pts.)
Describe how a bill becomes a law.  Be sure to explain the importance of the conference committee in this process. 
5.  (19 pts.) 
 Label the exporting and importing countries below.

A.  
On the graph below indicate:

· the free trade quantities supplied and demanded in each country as QDFT and QSFT

B.  
Now assume that the exporting country’s currency depreciates 
· label the resulting prices in each country PES

· label the resulting quantities supplied and demanded in each country as QDES and QSES

· indicate the prices and quantity traded in the trade sector as PES and QES

C. Relative to the initial free trade situation indicate what the effect of the exporting country’s currency depreciation on:

· Exporting country producers

· Exporting country consumers

· Importing country producers

· Importing country consumers 
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